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J| 1,371,909 1,371,909 0
== 105, 322 105,322
o 33,773,368 31,246,221 2,527,147
AL 18,270,730 15,822,184 2,448,546 15.48%
= 102,960 102,960 0
J| 1,371,909 1,371,909 0
== 93,740 93,740
o 16,702, 121 14,253,575 2,448,546
MEEs 17,031,482 16,952,881 78,601 0.46%
SHAE A AH| 97,673 97,673 0 0.00%
= 46,326 46,326 0
o= 11,582 11,582 0
= 39,765 39,765 0
UL ZHH 100,000 0 100,000 ==
Quts A 100,000 0 100,000 ==
A 2 3 H 2e| 100,000 0 100,000 ==
2 (ZS) )M 22 (DE2 HAHE EY3 100,000 0 100,000 =5
K
SAdES 11,791,758 10,101,487 1,690,271 16.73%
J| 32,459 32,459 0
= 11,759,299 10,069,028 1,690,271
Mol - =& 11,791,758 10,101,487 1,690,271 16.73%
J| 32,459 32,459 0
o 11,759,299 10,069,028 1,690,271
A= 22| 9,568,421 7,798,087 1,770,334 22.70%
ZAUT S AMLETO AN D (ALEEEYT 9,568,421 7,798,087 1,770,334 22.70%
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=220t % 22 2,185,337 2,265,400 A 80,063 A 3.53%
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OtEZHAY (St EY 3 H) 2,079,443 2,196,000 N 116,557 A5.31%
St ZAIY (FEINHELSIH) 105,894 69,400 36,494 52.59%
J| 32,459 32,459 0
o 73,435 36,941 36,494
THRE S (AT AL A) 38,000 38,000 0 0.00%
HEHHK S (Mot AGAN) (Gt EE 3 A 38,000 38,000 0 0.00%
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AFSI £ X 3,791,010 3,724,430 66,580 1.79%
= 102,960 102,960 0
== 43,740 43,740 0




He =& 12 JESEA &H el )
20k 22 - HAAIY - SAAH(3IH) Ol &F oA J 3 o o
So=
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l=dge2d 609,078 606,099 ,979 0.49%
= 102,960 102,960 0
< 43,740 43,740 0
s 462,378 459,399 ,979
0= MEEH 609,078 606,099 ,979 0.49%
= 102,960 102,960 0
£ 43,740 43,740 0
s 462,378 459,399 ,979
=AY (AtSISXISE s AH) 609,078 606,099 ,979 0.49%
= 102,960 102,960 0
S 43,740 43,740 0
= 462,378 459,399 ,979
FAHSXE 563,450 578,450 ,000 A2.59%
FAAHNSXEH 563,450 578,450 ,000 A 2.59%
I =MEEIMG (MEZRNELS ) 563,450 578,450 ,000 N 2.59%
255204 10,000 10,000 0 0.00%
HdE A 10,000 10,000 0 0.00%
HEZHAIS (A SXNSESSAH) 10,000 10,000 0 0.00%
Lol - HAH 15,000 15,000 0 0.00%
Lo=EXsd 15,000 15,000 0 0.00%
Co=EXAY (MBI EXSESAH) 15,000 15,000 0 0.00%
tal = XL et ,593,482 2,514,881 ,601 3.13%
Hees(Flden) ,593,482 2,514,881 ,601 3.13%
BHNEQI=MESEAMNY)(AISXNSE A ,686,759 1,625,800 ,959 3.75%
)
SBHENE(AZ2SHAMY)(ASIEXNELSIA) 55,133 32,125 ,008 71.62%
BENE(A=SAME)(ASEXNSLESIA) 536,928 538,738 810 A 0.34%
SBENES(HLSLEAMY)(AIENELSIA) 314,662 318,218 ,556 AT1.12%
o =4t , 725,000 8,725,000 0 0.00%
sg-s& , 725,000 8,725,000 0 0.00%
s0Hgo ASEH 725,000 725,000 0 0.00%
SHELENZ SN (5HE 725,000 725,000 0 0.00%
3 A
Heags(sg83y) ,000,000 8,000,000 0 0.00%
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313)
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MRS EXH 263,000 263,000 0 0.00%
SAIHERA & =S4 263,000 263,000 0 0.00%
SAJNYSENS N (EMIISENS2E 263,000 263,000 0 0.00%
SE3H)
AR E - DES 6,400,000 6,400,000 0 0.00%
HRes (234 Z ) 6,400,000 6,400,000 0 0.00%
UWEAHX S (S4B D) (LS SX A A 1,900,000 1,900,000 0 0.00%
HAEE3IH)
UWEAHHX S (ESLULIMU)(SLIESLET 4,500,000 4,500,000 0 0.00%
S23SE3H)
=S5 UE 1,062,298 1,062,298 0 0.00%
hsns - =25sIIE 1,052,298 1,052,298 0 0.00%
nsSHE o 1,062,298 1,062,298 0 0.00%
I=EMEE(FUHESEIA) 1,052,298 1,052,298 0 0.00%
=EYX AN 3,179,146 2,508,850 670,296 26.72%
J| 1,339,450 1,339,450 0
= 50,000 50,000 0
= 1,789,696 1,119,400 670,296
KNS LA 2,314,765 2,208,450 106,315 4.81%
J| 1,339,450 1,339,450 0
s 975,315 869,000 106,315
LEAFHISA WY 1,552,450 1,552,450 0 0.00%
J| 1,339,450 1,339,450 0
= 213,000 213,000 0
LEHALAFEHIS JI2XNEAL (L LAFEI A 1,552,450 1,552,450 0 0.00%
|2 AMESE3A)
Il 1,339,450 1,339,450 0
T 213,000 213,000 0
SCAAHE RO 762,315 656,000 106,315 16.21%
JIBFAIS EXINE (DIBFAIE S E 3 ) 323,092 323,000 92 0.03%
A0 UK S (FHII0IHHEZAHE AL 439,223 333,000 106,223 31.90%
NEasgs )
i geaR= N 864,381 300,400 563,981 187.74%
= 50,000 50,000 0
= 814,381 250,400 563,981
AAEHTNE & 2H 864,381 300,400 563,981 187.74%
== 50,000 50,000 0
= 814,381 250,400 563,981
APH TN 2 e (MU ZTLHAEELS 864,381 300,400 563,981 187.74%
AH)
= 50,000 50,000 0
= 814,381 250,400 563,981
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JIE 97,673 97,673 0 0.00%
= 46,326 46,326 0
< 11,582 11,582 0
s 39,765 39,765 0
JIEt 97,673 97,673 0 0.00%
= 46,326 46,326 0
< 11,582 11,582 0
[ia 39,765 39,765 0
2 57,908 57,908 0 0.00%
= 46,326 46,326 0
< 11,582 11,582 0
HALZ) (AHEISXISE 3 AH) 57,908 57,908 0 0.00%
= 46,326 46,326 0
< 11,582 11,582 0
HE2I 39,765 39,765 0 0.00%
o2y [ Sg3 39,765 39,765 0 0.00%




